210 BEBRHERUELHER

2.10.1 F&EEH ZHECHR

P (BS12- BS18-111
) AJ |BK| (CL)I DM [AJ] BK | CL | DM
IBIEEENE @3~ @12mm @3~ ¢ 18mm
= r G.B{£ER8k: 2 Eé& G.B {F :
o BATE T B sy, | "3agss ot it
T | TSR AREBITE @ 7mm @ 7mm
TR = AR VRYAL M6 x 1 M6 x 1
i %EEW%?@EE@Z—. @12mm ? 18mm
CEEEHBARREBIE @ 6mm @ 6mm
Dlﬂ AR i S WRYA S M5 x 0.8 M5 x 0.8
- ro2ZR)INWVERRIBIE - @6mm — @ 6mm
717 B A FOYIWERKRALUILE — M5 % 0.8 — M5 % 0.8
EEFI)NVERRBOZ - @ 4mm - — @4dmm —
E@ErUNERRAUCLE — M25x0.45| — — M2.5 x 0.45 -
O S EE 200~12,000min"! 200~10,000min"’
1 |7 TH E 8 200~8,000min™ 200~8,000min*
W [ey — i 164k | 184 [16F 164& | 18& | 16K
ge|ly—ntg1 X 12mm X 12mm X 85mm 12mm X 12mm % 85mm
7|8k EE 18m/min(X1-Y & 12m/min) 18m/min(X1-Y & 12m/min)
I 5 | 6 | 7 5 | 6 | 7
EEh 1.5/2.2kW 1.1/3.7xW
EHEXE 0.75/1.1kW 0.75/1.1kW
; X1-Y-Z1-72 84 0.3kW 0.3kW
” A-B-X2-T3 # 0.5kW 0.5k W
PR 7 0.18kW 0.18kW
BEwRt 7 0.005kW 0.005kW
ERREE 2,200kg 2,200kg
=z |BRAER 9kVA 9kVA
B |ERED 0.4Mpa M L 0.4Mpa LA &
fu (Ze KB 30NV/min 30NI/min
BOXBA{TEXES 1,870 x 1,150 x 1,685mm 1,870 x 1,150 X 1,685mm

$1) BORIUNBEOREGZ. BE TS S EEED 4,000min’ 02D ET.
E2) AANTO—(EiAELEEEZEREDORED. L LR = E iR 6,000min? ICRD ET,

2-12

100 7
00/100@ BY e BB W\V® 9295 [L S6¥0 XV [I:11 NOK $2/80 6102



